JLRAREdhAE HRIAP A - A~— 1 CEET

st
i
by
-
I

aF 34 8H

A A EOE HRR A A B

TR e HEE S T



T +

1

=

1. T4 kB A B EE R PA - Aw— K1 CEEETE
2. B4 LB # H B #E
b H B A
3. LEHERFT (B) B B i T (KP 19.8
() A BAREA T A AT KT/ NP5 (KP 118.3
(H) A BAREA T A AT KT NP5
(F) HABRIFEA AL A
(H) HHABHGEA AL A
(ZFE) HARFHER Sty HEY
€ED)
(€D)
€ED)
=)
4. fTHNE
e TAE &
A<w—hKIC -HITZ77 ) 299m
A<w—hKIC- -WfTZ77 ) 26 1m
LB H By EE ¥ 44, 700m
Wik B EhEE #¥ 13, 600m
& B # 58, 860m
5. ¥ # H &f1 3F 9H 9H ~ B &f 4F 9H 3H ( 360HFH)



B " N F & P- 1 F
T % % [JEBIR AT HE P A - A~— | 1 CHiE ¥
H B fr | 4% A MMoBl N R
+T K| 1 1,172, 864
BT A1 1,172,864 |R&+T 238 it
B 238 o
- ek EV 8, 778, 824
FHEK T EV 7,873,867 |7 L&y A kAN 811 m
811 m
LT B APk 67 m
67 m
HAKET L EV 737,949 |[4EKET 7 T
7 T
OHO, MO T EV 167,008 |O&0, M0 5 T
5 T
Ak T EVINT 54, 478, 066
AR UE(H L EV 246, 584 | AR UE( T 9, 484 il
9, 484 ot
RLIR B AR T EVN 5,889, 050 | )& F 9, 445 fred
9, 445 ot
T A7 7V MEAY EVINT 48,342,432 | FF A Lha— | 7,221 Y
7,221 ¥4
K a—h 3,191 £
A 3,191 ¥4
INEAT A7 7 )b NETEWMHEKAE T (t =8 cm) 7,576 m2
TAZybhary)— hokEEE T (t =6 cm) 7,025 m2
TAZyNbars—rEET (1t =6 cm) 1, 438 m2
TAZy)bharz7)—hRET (EHETR) (t=4cm) 6, 834 m2
TAZyNharysY—bREL (BH) (t=4cm) 1,378 m2
TAZyFNARarsU— EEL CEl-bAt) (t=10cm) 503 m2
(t=10cm) 503 m2
IR AR T A1 19, 952, 330
Bz L EVN 10,194,302 [H— FL—/ 1, 269 m
DAt 900 m Gr—A (P) 162 m
Gr—B (P) 207 m
% T WBE LA T K1 9,758, 028 |7 F4BA 1A 86 m
86 m
A3 B PRt % T A1 30, 578, 058
T T EV 25,059, 359 | L <y 217 m
F =G 217 m
P LR T 9 o
F12 9 T
TR 89 pae
Al 11 H B1 2 H
D1 66 H F1 2 H
D3 8 H




BMO®" N R E p- 2 ¢
T % % [ B AB Al P A - A~—F 1 CAlE T
H B fr | 4% i MMoBl N R
AR (B 168 ot
A 101 ot B 56 ot
D 11 ot
A (PN AR =) 4 e
J1 2 e J2 2 #
PR L EV 1,794, T73 | B& A AR E TR 2,232 m
Al 1,288 m B1 944 m
PR AR AR AET (nf) 523 ot
Cc1 523 ot
TR A T EV 596, 310 | fRLFR 5 EAR 150 =
DAt 5 H A2—4 145 H
PR T |1 242,202 | BEAfFE %6 s
D2 54 e 2 e
B BT EVN 2,334,684 | HUBR Sy BIERE 135 =
135 e
RS T K| 1 114,000 |D 1 2 3
PR T K1 436, 730 | A 40 m2
i B 5 m2
MET A1 21,697, 119
WiE S HEE L T EV 134,400 |RERBAEME (Fi) 112 m
Z Ol P L A1 21, 562, 719 1 =
1 =
1 =
B T &t EV 136, 657, 261
EETHEE F K |1 136, 657, 261
Heim (% K |1 21, 885, 512
LB K |1 3,340,512 | T2 FABEMOEMRE 1 =
SRS ERE T H TR N B 1 =
IR TR 1 v
1< BT 1 v
e B K |1 18, 545, 000
B A =X |1 39, 093, 000
M THEE § K |1 60, 978, 512
T K |1 197, 635, 773
—RE P K |1 27,294, 227
T {AS K |1 224, 930, 000




